BOEse T X Y Total Avg
Input X <- 5

Total = X+Y

Random Access Memory (RAM) / Main Memory Avg=Total/2

Display Avg

endm 3033 (Data Types)

o pte - Integer(int) - 25,175,0,-25
- Floating(float) - 25.25,175.85, 0.75, -25.75
- String(str) - “Nimal”, “Ratnapura”
- Boolian(bool) - True, False
- None(None) - None
- List (list) - [25, 3.5, “Hello”,[5,7.5, “World”]]

- Tupple (tupple) - (5,3.5, “Hello”)
- Dictionary (dict) - {'Name’: ‘Nimal’, ‘Address’:Ratnapura’, ‘Contact’:0764532145}
- Set (set) - {“Nimal”, “Ratnapura”,0764532145}



